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l. This Booklet consists of four objective type tests : Test | — Reasoning Ability, Test 1T - Numerical Ability,
Test 11— General Knowledge and Awareness of Current Affairsand Test IV - English Language. The total duration of these tests
is 2 hours and there are no separate time limits for each of them,

g RS Y-« ST | - T A, WA 1] - S dr, - 11l - ST 19 U5 W A
TR TR 1V - s v e g vt 2 uR & e v § fon sem-sem e @i g

2. All questions carry equal marks.
afi g HSH TR |

3. On the top of the cover page of your Test Booklet towards the left, Test Battery Number is printed. Write this number in

your answer sheet at the appropriate place.

o - g ¥ O 7S W HEE S A S whg A deh ven oh ¥ | 1 39 IW-7 7 39 W W
fofan

4. Below the Test Battery Number in your Test Booklet, Test Form No. is printed, write this number in the box for Test Form
No. in your answer-sheet and darken the appropriate circles in it by your H.B. Pencil,
e whge-giEe i fo-ven F R e ey oe ol 8, T Hew B AT -7 F alen we wem T T A
frfan aan 3e% 912 vy g # oA, e § s i)

5. On the cover page of your Test Booklet towards right, Booklet Scries is printed, write this in the box for Booklet Series in your
answer-sheet and darken the appropriate circle below it by the H.B. Pencil.
ST - e s R s R e | A |, v o - g v e
F1 36% A2 3w g9 H @A, 3R F Fen whe )

6. Below the Booklet Series in your Test Booklet's cover page, Test-Booklet Serial No. is printed in red ink, write this number in the
space meant for Test Booklet Serial No. in your answer-sheet.
T - % A 7% g fEen i, v g e ven e e A o R, 7 I~y | Fuffa ww
L siicid]

(Continued on back of the last page.)
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Test -1
Reasoning Ability
H - - ]
LEXIen

Directions (Q. No. 1-5) : Find out the correct answer out of the four alternatives given below each
question and then mark it in your answer sheet.

ke (34, 1-5): TS T 1 ER mm&:ﬂ%ﬁa@mﬁﬁﬁﬁﬁﬁ@ﬁm'ﬁzﬁmaﬁwﬁimmﬁ

T g A SffFa |

1. Ice : Coolness : : Earth : ?
(1) Forest (2) Weight (3) Gravitation (4) Ocean
R« witaeran : g2l : 7
(1) = (2) WX (3) e (4) HEETR

2. Coconut : Shell : : Letter : ?
(1) Mail (2) Letter-box (3) Stamp (4) Envelope
ElIto RECIE S R - PR
(1) (2) we-a=d (3) s-Towe (4) T

3. Income is related to profit in the same way as expenditure is related to
(1) Loss (2) Surplus (3) Balance (4) Sale
s & el TR a2 g ©
(1) 8 (2) s=a ™ (3) TN A (4) e

; 4. Much is related to many in the same way as measure is related to

(1) Calculate (2) Count (3) Weigh (4) Measurement
o v 9ga gt 8 3% @ I TR W1 FEG 8
(1) ‘mma 2) a8 (3) 9= ¥ (4) TR

5 Clue is related to Mystery in the same way as warning is related to

111

(1) Precaution (2) Disaster (3) Risk (4) Danger

O 1 e | I T waY 2 e TR S FE 2
(1) EEgH 8 (2) wefamer & (3) sifam @ (4) @A
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6.

10.

111

Find the oddman out.

A gm0
(1) MOndAy (2) tUESdAy
(3) WEJINESdAYy (4) thUrSdAy

. Three of the following four are alike in a certain way and hence form a group. Which is the one that

does not belong to the group ?
FAsiiddi e s RIwnEepTR ISR aEmagi @t ?

(1) CUSTOMER : SGPSYYBK (2) INTEREST : UUHVJYUQ

(3) OVERSEAS : TCHWWKCW (4) BANKING : HPLOSGI

. Three of the following four have similar relationship and hence form a group. Which one does not

belong to the group ?
frsdiddriw-ndul Einl e RO E R eE i @ 7

(1) PROFIT : RPQCKR (2) OTHERS : QRICTQ

(3) LEGUME : NCISOC (4) CANKER : EYPIGP

. Three of the four groups of letters given below are alike in a certain way while one is different.

Choose the odd one.

FFiFTR A Rmogidafm ol eRIETEfswimadiitemd | fwmw
7 ‘

(1) GWOURV (2) LZKMSU (3) JOEHNP (4) SFXPMG

Three of the four groups of letters given below are alike in a certain way while one is different.
Choose the odd one.

I FR AR MEE idd el R ITTF A swmamda = | Fmwe
U 7

(1) W ' (2) MS (3) FT (4) JU
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Directions (Q. No. 11-15) : Find out the missing term in the following letter-number series :

iy (vd. 11-15): TR AT - FaEeE § g T 6 |

1. H4W, 118V, K48T N 100 Q, ? ,W204 H
(1) P 1485 S (2) R18OM (3) S1981 (4) T 206 K

12. 1ED,2FD,3KH, ? , 15 KG, 48 KF
(1) 12PX (2) 6RI (3) 9LV (4) 8 TQ

13. M4, T7, P7, Q10, S10, N13, 7?2, KI6
(1) vé 2) K7 (3) T13 (4) G 15

14. RSP, T6M, VI, X156, ?
(1) A12L () 118X (3) Z25D (4) U20Q

15. DGK 0, GKP3, 7 ., PVC 15
(1) GKV 5 (2) KPV 8 (3) PVZ9 (4) KPU 11

16. If the first 6 letters of the English Alphabet series are written in reversed order, then the next 6 letters
are written in reversed ~ order and so on, and at the end Y is interchanged by Z, then which letter is
fourth letter to the right of 13" letter from the left ?

zzﬁsiaaﬂiﬁ\aufuwﬁsmémﬁqﬂamﬁ%@ﬁﬁaﬁ,ﬁmmsamﬁqﬂawﬁ%@ﬁﬁaﬁqﬁw
T, FnFAE Y F Zﬁmmﬁmm,maﬁﬁ%@éamﬁﬁzﬂmﬁ%mamaﬁamm?

(1) M (2) N (3) Q 4) P

17. If the English Alphabet series is written in the reverse order and every alternate letter starting from Y
is dropped, which letter will be exactly in the middle of the remaining letters of the Alphabet series ?

uf&aiﬂaﬂﬁauhw@fﬁvﬁamﬁ%@aﬁmYﬁmm&m@mamﬁ@zﬁmaﬁ,ﬁw
5 wrh S a3 fepe @1 S S @ S 7
(1) L (2) O 3)M 4) N

18. If the letters in each of the following five groups of letters are first rearranged in the alphabetical

order and then the groups of letters so formed are rearranged as in a dictionary, which letter group
would have its group of letters in the MIDDLE among the five letter-groups ?

aﬁﬁﬁigﬁqﬁama{é%m%a@ﬁ%&mﬁm%mﬁmwﬁmaﬁmmmmaﬁ@
HEFE a?twraa?ﬁéammmﬁmwﬁ,ﬂmﬁamm%amﬁmmm@ﬁaﬁm?ﬁ?
MEET. DEAF, ROAD, CODE, LACK

(1) LACK (2) MEET (3) ROAD (4) DEAF

111 -5- A
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Directions (Q. No. 11-15) : Find out the missing term in the following letter-number series :

fidq (wd. 11-15): = AR e -dE Faesd § g 9 96 #)

11. H4W, 118V, K48T N 100 Q, ? ,W294 H
(1) P 1485 S (2) R 180 M (3) S1981 (4) T206K

12. 1 ED,2FD, 3 KH, ? , 15 KG, 48 KF
(1) 12PX (2) 6RI (3) 9LV (4) 8 TQ

13. M4, T7, P7, Q10, S10, N13, ? ., K16
(1) va () K7 (3) T13 4) G 15

14. RSP, T6M, V91 X 15G, ?
() A12L (2) 118X 3) 225D (4) U20Q

15. DGK 0, GKP3, ? PVC 15
(1) GKV 5 (2) KPV 8 (3) PVZ 9 (4) KPU 11

16. If the first 6 letters of the English Alphabet series are written in reversed order, then the next 6 letters
are written in reversed order and so on, and at the end Y is interchanged by Z, then which letter is
fourth letter to the right of 13" letter from the left ?
7% s < FuidTEn & 99 ﬁmﬁqﬂﬂmﬁﬁi@ﬁiaﬁ,ﬁxm6mmﬁqﬁaaﬂﬁ%@ﬁam&qﬁgﬂ
SER, A A E YR ZA ST o e 9, 76 9E @ ated amﬁa?tﬁaﬂtaaﬁmamaﬁqmm?
(H M (2) N 3) Q 4) P

17. If the English Alphabet series is written in the reverse order and every alternate letter starting from Y
is dropped, which letter will be exactly in the middle of the remaining letters of the Alphabet series ?
uﬁﬁﬁﬁmﬁmm\ﬁqﬁamﬁ%@mﬁmYﬁmmmmamﬁ@zﬁmaﬁjﬁaﬁmﬂ
3 b = ) 3 Frepe A=l d I E A A ]
(nH L (2) O 3 M (4) N

18. If the letters in each of the following five groups of letters are first rearranged in the alphabetical

111

order and then the groups of letters so formed are rearranged as in a dictionary, which letter group
would have its group of letters in the MIDDLE among the five letter-groups ?

qﬁﬁﬁﬁgﬁtﬁammu{é%m%aﬁﬁaﬁﬁém%mﬁmaﬂﬁmaﬁwﬁﬂwmaﬁ@
NG TR F T & a@ﬂmﬁﬁmaﬁ,?ﬁaﬁqa mmw%amwﬁmma{éﬁﬁmaﬁ?
MEET. DEAF, ROAD, CODE, LACK

(1) LACK (2) MEET (3) ROAD (4) DEAF

-5- A
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30. How many such vowels are there in the above arrangements, each of which is immediately preceded
by a digit and immediately followed by a consonant ?

R IR R S R @I M AR WS 8 7

(1 (2) 2 (3) 3 4) 4

Directions (Q. No. 31-34) : In the following coded arithmetic equations certain symbols a're: used with the

following meaning :
I. P A Q means add P to Q;
[I. PO Q means substract Q from P,
III. P O Q means multiply P with Q; and t

IV. P O Q means divide P by Q.
Now study the given information and answer the question following it.

Three persons A, B and C complete a work in 20 days. B and C together are 4/3 times as efficient as A
and B together. On the other hand A and C together are 5/4 times as efficient as B and C together.

¥ (w4, 31.34): 71z Bl g P e wefterolt 3 g8 e st v e B R E
L PAQHard PRIQETEAHE;

II. POQ Mamd Q% PEATHAE;

. POQ FAFHPHQ FTUPIFARY; @

IV.POQ FITEAPHIQ Fvym AR

A g g o | R R R g wmsw

A B GCEFHH 0WIWFILIBE Cou-TuFH T H, AW B Fau-sFA FH 4
AT FE Y I T MAECIY- N FE FEH, B E CHF M-I T FHA A 54 T ¢ |

31. Which of the following equations represents the number of days in which A alone can finish the

same work ?

e d @ 99w T 39 R vem w1 s € e A e 98 wE o s a8 7
(1) 24020 O (24 0 20) (2) 30020 (30 A 20)
(3) 30 020 O (30 O 20) (4) 40 020 O (40 O 20)

111 -8- A
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32. Which of the following equations represents the number of days in which B and C together can
finish the same work ?

ﬁmﬁ%aﬁammmﬁﬁaﬁmmm%ﬁﬂﬁaﬁ Cm—mmﬁmaﬁmﬁ@maﬁél
(1) 4003 A )04 @ 2000120603

(3)200(12[]6)05 (4)400200(40[]20)

33, Which of the following equations represents the aumber of days in which A and B working together

can finish the same work ?
ﬁnﬁﬁwmaﬂmmﬁeﬁﬂﬁmmﬁaﬁ%ﬁ:ﬁ AW Bm‘a—mﬂrﬂdmﬂmwmaﬁ%l

(1}200(3;53)04 (2)400200(40[]20)

(3)200(12[16)05 (4)200(12D6)03

34. Which of the following equations represents the number of days in which A and C working together

can finish the same work ?

ﬁnﬁ%mmqﬁmmﬁﬁﬁé@rmm%ﬁﬁ A@ Cm—wmﬁmﬁmﬁf@maﬁ%?

(1)400200(40[] 20) (2)200(12[]6)05

(3)200(3453)04 (4)200(12[16)03

35. A travel towards East. B travels towards North. C and D travel in opposite directions. D travels

towards right of A. Which of the following is definitely true ?

(1) Band C travel in opposite directions (2) C travels towards West

(3) D travels towards North (4) B and C travel in the same direction

ATEH o aEn @ R | B IWH AnamF@ s C@E Dﬁwﬂaﬁmﬁﬁmmﬁm,mﬁaﬂm
mm%nﬁﬂﬁmﬁ%ﬁmﬁm%?

(1) B@ Cﬁqﬂaﬁimﬂﬁaﬁrm%% (2) Cq%ﬂﬁaﬂtmm%
(3) Dﬁ‘ﬁ ST AT FE (4) B@Cﬂﬁmﬁmm‘a%

111 9.
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36.

37.

38.

39.

111

(VA

A cow runs 20 metres towards East and turns to right, runs 10 metres and turns to right, runs
9 metres and again turns to left, runs 5 metres and then turns to left, runs 12 metres and finally turns

to left and runs 6 metres. Now which direction is the cow facing ?

(1) North (2) East (3) South (4) West

UF T 20 Hie T i S e 2l 2l g wrelt @ i 10 e dgw 2t s e e 2, Qe 9 e e
st iR e S R, 5 Hiex et @ qwn o i 3R s W 2, 12 i Sreeft R 3R o7 & =it i e 6 Wi
dwHsmmam s FaRmie?

(1) 3¢ (2) T (3) =i (4) ufssm

A boy started walking positioning his back towards the sun. After sometimes, he turned left, then §

turned right and then towards the left again. In which direction is he going now ?

(1) East or West (2) North or West  (3) South or West (4) North or South

U e 3 g 1 AR T e 3 Fo ST 6 | 5 e v Tw wid e e, 2t AR et A f
it 3R 2T | 58 o R R d s 7

(1) 7= =1 vffam (2) I a1 afF=m (3) =féor a1 uflm (4) I 31 2fEqm

If Thursday was the day after the day before yesterday five days ago, what is the least number of
days ago when Sunday was three days before the day after tomorrow ?

afe o= 37 @ =t @ wee A & weura qeeafian =1 9w, o1 98 e vvae A R & 9 R ves dian
¥4 8 F9 foad R veet an ? b

(11 (2) 2 (3) 3 4) 4

In a row of boys facing North, a boy is thirteen from the left. When shifted to his right by three

places, he becomes seventeenth from right end of the row. How many boys are there in the row ?

I foum 41 4z F0F A3 g2 T ) U o F, o oo ot ol A Feat 2 orgeh o s i mE seE W
% It % 214 SN 4 wweai a1 wman 8 | IRe d R = E 7

(1) 32 ] (2) 31 (3) 33 (4) 30

-10- A
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40,

41.

42.

43.

44,

45.

111

136 vehicles are parked in a parking lot in a single row. After the first car there is one scooter. After
the second car, there are two SCOOIErS. After the third car, there are three scooters and so on. Work
out the number of scooters in the second half of the row.

136 aTee P wifS e i o R HER FR AR | Gee I F R |l FR F IR AT |
vt R 3 = 99 S § 1 lﬁﬁﬁ%z@im%@ﬂq{ﬁ-ﬁﬁmmmﬁ |

(1) 61 (2) 62 (3) 63 (4) 64

Three of the following four are alike in a certain way and hence form a group. Which one of the
following does not belong to that group ?

i A TRl R AR TR
(7 2) 9 3) 17 (4) 33

Choose the odd numeral pair in the following.

ey faram weToTE W 14 R
(1) 140-45 (2) 120-35 (3) 110-35 (4) 80-25

Choose that set of numbers from the four alternative sets, that is similar to the given set.

Tl AFE ﬁ'ﬁﬁﬂﬂ%ﬂzmiﬁﬁﬁﬁﬁ@ﬂz%m% 1
Given set : (246, 257, 358)
fengen Ae:

(1) (145, 235, 325) (2) (143, 253; 246) (3) (273, 365, 367) (4) (233, 343, 345)

Choose the one which is different from the rest
mwyEEtRAS e fEe
(1) 248 (2) 326 (3) 392 4) 414

Three of the following four are alike in a certain way and so form a group. Which is the one that

does not belong to that group ?

ﬁnmﬁ'ﬁﬁaﬁqﬁmﬂmﬁ@ééiwﬁﬁ@wm% |FRE IR EE AR !

(1) 156 (2) 152 (3) 72 (4) 42

A11- A
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4:
Directions (Q. 46-50) : In each question below, is given a statement followed by two assumptions
numbered I and I1. An assumption is something supposed or taken for granted. You have to consider the
statement and the following assumptions and decide which of the assumptions is implicit in the statement.
Give answer : (1) if only assumption I is implicit; (2) if only assumption II is implicit; (3) if neither I nor
11 is implicit; and (4) if both [ and II are implicit.
3w (3.9, 46-50) : = 23 g4 o= wea # o= Sred fom e @ s AR 3 amomd Rt 1w 1 it e
T d, A ¥ | o o i g A e o o S | T aeeed U 3 A & g Eeawms
F1 wF § wEe Bivig & 2 & o ghunon s 8§ SRR R
FE W 2 : (1) 3R Faw Eowon | s=tiRa € ; (2) 3R Faw gown 11 s 2 5 (3) IR T @ Howon [ &
wHaw I JafitEa 2; @ (4) 3R 9 oo s € ) "
4¢
46. Statement : To achieve economic development, people should work hard.
Assumptions :
I) Achieving economic development is desirable.
IT) Working hard is not impossible.
Foed ; e T & Fenea & TR =t 1 =i vfem se @@ |
YR :
1) snfdf o =1 P afefia 2
II) i aftsrm =0 s @ ? |
0
$H 50

47. Statement : He is too industrious to be poor.
Assumptions :
I) Very industrious people also can be poor.

IT) Very lazy people also can be rich.

ey : Fida 20 ) e o sremmEEdt i R

‘f‘ﬂ'l’(“lﬁ:
I) siga sreAea =afs dfi Fda sl wwa € |
II) =ga et =t fi gTea gl awa § |

111 -12- A 111
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48.

49.

* 50.

111

Statement : Visitors may use lift at their own risk.
Assumptions :
I) Using lift is not always safe.

II) Visitors do not want to use lift.

m;mmmﬂw«mmmmm§ 1

qgf‘tm'"lﬁ:
nmmmﬁnm@ag@r—r@% I
mwmmmﬁrﬂmaﬁaﬁa 1

Statement : This book is so designed that even a layman can casily learn science in the absence of a
teacher.

Assumptions :
I) Learning science by everybody is desirable.

I) A layman generally finds it difficult to learn science on his own.

FFA :mwwma@ﬁmﬁ%ﬁ:ﬁwﬁm%ﬁmmwsﬂﬁwm%%mé 1

‘{-fﬂ'R'"Tla:
nﬁaﬂmm%ﬁaﬁm% |

mwmw:aﬁ%mﬁm%awﬁaﬁnﬁmﬁﬁ |

Statement : Although the rates of this hotel are comparable with other hotels, the amenities provided
here are far superior.

Assumptions :
I) Rates are independent of amenities provided.
1) Rates are dependent on amenities provided.

e mﬁwmﬁﬁ@iﬁmﬁ%m@ﬂm%ﬁﬁmzﬁaﬁgﬁwﬁa@h% l
‘:Efﬂ'l’."’lﬁ:

nﬁmﬁﬁa@gﬂﬂmﬂmmﬁaaﬁﬁ |

u)a’imgﬁvm‘htmﬂa% |
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Direction (Q. 51-55) : The President of a club is appointing nine officials A, B. C, D, E,F, G, Hand I to
serve on three committees to study three different aspects of activities of the club. There will be a Games
Committee, a Food Service Committee and an Entertainment Committee. The appointments must respect

the following :

Each committee must have exactly three members.
No person can serve on more than one committee.
H must serve on the Entertainment Committee,

C and D must serve on the same commitiee.

A and B cannot serve on the same committee. i

E cannot serve on the same committee as L.

F must serve on the same committee as B or H or both B and H.

& (9. 8. 51-55):qmmmwmaﬁﬁlﬁmmmﬁ%%iﬁqaﬁmﬁﬂ A.B.C.D,EF,GH®@I
ﬁﬁgﬁlmﬁwﬁﬁﬁqﬁ%ﬁhﬂ%ﬁ:{uﬁ@ﬂmwaﬁ%%ﬂmm% | U O G, O A9 @
e gt et | P # e ad g s e

- e wfafy it =1 @ de wem dR =R |

- 2 ot we v Al A st affed 3 € & wwa |

- H wvem gt f g anfed |

- C @ D wé wfifa i 89 =il |

- A vd B ) afaf 7 @ v |

- E 3a afifa # 72 2w fored 1200 |

- F a affa & 9 =id el BaHa1 B W@ Haw &l |

51. 1f B and G serve on the Games Committee, which of the following must serve on the Food Service

Committee ?

a7 B G O witf § 8, 9 @ da gfif S gk 7

(1) A (2) D (3) E 4) F

111 -14-

‘K
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(A
52. Which of the following groups could constitute the Games Committee ?
e 1 4 2 e O AR AR ?
(1) A,B,E (2) A,D,G (3) CCH,E (4 1B

53. If A is assigned to the Food Service Committee and C is appointed to Entertainment Committee, then

which of the following must be true ?

1. G is appointed to the Food Service Committee.
II. E is appointed to the Games Commitiee.

111. 1 is appointed to the Entertainment Committee.

(1) [ only (2) 111 only (3) I and III only (4) 11 and III only

afs A ) P wTa A G ¢ <6 gl v w81, 1 P @ e e g R ?

L: Gﬂﬁgﬁamﬁmaﬁrﬁ%%ﬁﬁmﬂ% |
1. Eﬁﬁgﬁ@aaﬁ%%%ﬂﬁm% u
111, 12 FrafE s afife & Rl Reft @ |

(1) F=a 1 (2) F=a 1 (3) Faw 1@ I (4) Haw M I

54. If F serves on the Food Service Committee and C serves on the same committee as H, then which of

the following must serve on the Games Committee ?

I. A
IL G
il I
(1) 1 only (2) I only (3) I and II only (4) 11 and III only
2F F @ A At 3 2 o C 3| aify ¥ @ R H%,mﬁnﬁﬂ%aaﬁ@auﬁﬁﬁﬁmm%ﬁ?
I. A
il. G
1. I
(1) ¥== 1 (2) %=a T 3) ¥=a 1@ (4) Faw U@ I
-15-

111
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55. Ifl is o

Directions (Q.

have

following must be true ?

(1) Fison the Entertainment Committee

(3) G is on the Food Service Committee

uﬁinﬁmaﬁ%ﬁ%mBmﬁm

(1) Frans i e |
(3) Gemdmalfi i

correct word.

¥ (w. 9. 56-60) : FS Tl & & & FE
mm%ﬁﬂ%ﬁ&@ﬁmﬁ%uﬁmaﬂaﬁﬁn HF A |

56.

57.

58.

39,

60.

111

AYDOT

(1) A

ILCEOP

(1 C

CAPCET

(N A

VISERL

(1) E

ERVSECI .

() E

|

(2) D

(2) E

(2) C

)L

2)1

n the Entertainment Committee and B is on the Food Service

T

Committee, then which of the

(2) Cis on the Games Committee

(4) F is on the Games Committee

aﬁﬁﬁ%m.ﬁnﬁﬂa&mmﬁm?ﬁa ?

) CeaeRfdz
(4) FRaaifig |

been given below. Out of the choices given below each question, ¢

3T

3) L

3)P

3) R

3) R

-16-

No. 56-60) : Letters of certain words have been rearranged and the jumbled spellings

hoose the last letter of the

wrafn = R € ww =R geRm T FR AT |

@Y

“4) O

4T

4) S

(4) S

b K
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61.

62.

63.

64.

111

Test - I1
Numerical Ability
g@-1 - 1I
qEarens i

Which of the following numbers is exactly divisible by 99 ?

oy 3 3 B g 31 99 3 ot w & P R sERaT ? 7

(1) 114345 (2) 135792 (3) 3572404 (4) 913464

In a division sum, the divisor is 10 times the quotient and 5 times the remainder. If the remainder is
46, the dividend is :

T 3 T W H, WS IS 10T S AR |qR dw 46}, M wAR

(1) 4356 (2) 4816 (3) 5096 (4) 5336

On 1st January every year, a person buys N.S.C. (National Savings Certificates) of value exceeding
that of his last year's purchase by Rs. 100. After 10 years, he finds that the total value of the
certificates held by him is Rs. 54,500. Find the value (in Rupees) of the certificates purchased by him
in the first year ?

@mﬁt%@aﬁﬁﬁﬁaﬁm&aﬁﬂﬂaﬂzﬂ 100 T 3 ¥ Ua S T gl § 1 |
o 3 A e B 36 T R e T 8, 3 9 54,500 77 & | 3E Pt e (R
H)F e wEie?

(1) 4,000 (2) 4,800 (3) 5,000 (4) 6,000

A tennis ball rebounds each time to a height equal to one-half of the height of the previous bounce,
if it is first dropped from a height of 8 meters, find the total vertical distance (in meters) it has
travelled when it hits the ground for the 10th time.

&ﬁaﬁmﬁauﬁmmaﬁﬁaﬁmﬁﬁﬁﬁ STt S 3 w0 IoeER e 8, J1 58 TEEl AR g X
5 Sad & fired ot 1 5@ @ loﬂmmﬁmmmﬁ@ﬁ;ﬁmwmﬁﬁ)m@?

(1) 21.969 (2) 22.969 (3) 23.969 (4) 24.969

17- A
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65. The LCM fliz_“_.
5 e LL.M. O 3-6s9n2715
152 4
s =1 SEH ST
1 10 20 27
M) 5 @ 5 3 3 @ 7
66. 4.8438+0.069= ?
(1) 60.2 (2) 69.2 (3) 70.2 4) 71.2
67. 03467 +0.1333= ? :
(1) 0.48 (2) 0.4801 (3) 048 (4) 48

68. In a certain city there are 5 colleges and 20 schools. Each school has 3 peons, | clerk and | head
clerk, whereas a college has 5 peons, 3 clerks, 1 head clerk and an additional staff as caretaker. The

monthly salary of each of them is as follows :

Peon = Rs. 1,100 ; Head clerk = Rs. 3,000, Clerk = Rs. 1,700, Caretaker = Rs. 2,500. The total
monthly salary bill (in Rupees) of Schools and Colleges of the city is :

o T 5 e 20 e ¥ | el e o 3 9w, | ol | e ffiie 2, sfh Yo st 1 5
e, 3 s, | wer Ffes @ o arferftan = FAEH R | 29 & W 1 Wi oA T R

T = . 1,100, 7 fifiw = 5. 3,000, & = 3. 1,700, 34T & = 5. 2,500 | TR F T @ Fes
o Wit 3o e (T H) R e 7

(1) 2,10,800 (2) 2,20,600 (3) 2,30,400 (4) 2,40,500 LA™

1 1 |
69. What fraction must be subtracted from the sum of -7 and i have an average of T of all the

three fractions ?

PRSI T8 -1‘3 1 v T A 3 R in;é % 3 @ el Fre e S ?

o » L N )
()2' ()3 ()4 ()‘5

111 18- A
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70. The value of -JO.4 is :

Tis

T2

04 FUHER:
(1) 0.2 (2) 0.02 (3) 0.63 (4) 0.51

red 85 points. If he had

A team of 8 persons joins in a shooting competition. The best marksman ScO
ber of points, the

scored 92 points, the average score for the team would have been 84. The num
team scored was @

Smﬁlﬁﬁ@ﬁﬁ?{%aﬁmﬂuﬁ?ﬁﬁmﬁmm | T 313 SR A 85 e W | afe 3e 92
ﬁszw.ﬁﬁaﬁ,?hanmmm g4 S | A e e W 7

(1) 645 (2) 665 (3) 588 (4) 672

The sum of three numbers is 136. 1f the ratio between first and second be 2 : 3 and that between
second and third is 5 : 3, then the second number is :

i et F A 136 2 1&%@@@%“@%2:3%@@@%%%%@5:3
3 Agmh e

(1) 40 2) 48 (3) 52 @) 60

73. A is as much younger to B as he is elder to C. If the sum of the ages of B and C is 48 years, what is

the age of A in years ?
msﬂmﬁ@a%mﬂ%ﬂcﬁm% 1zrﬁBqa‘C£tawrgaﬂami‘m4saﬁ%,a‘cAﬁmﬁﬁﬁa§%?
(1) 20 (2) 24 (3) 30 4) 32

-l
74. If t}mz +(3‘“)2F —81. the value of mis:

1
afe bm1+(3“‘)2]ﬁ=8!,masmﬂ%:
(1 -3 (2) -6 3) 3 (4) 6

75, p is six times as large as q. The percent that q is less than p is

111

p.qﬁ'ﬁ:@?ﬂ% | g pﬁﬁﬁﬁuﬁmﬂﬂ%?

1
(1) 833 ) 16% (3) 90 (4) 60

-19- A
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76.

77.

78.

79.

80.

111

TR

The income of a broker remains unchanged though the rate of commission is increased from 4% to
5%. The percentage of slump in business is :

s e ) i e e g Taf e R 4% R 5% 37 81 e | s A e e e ?
(1) 10% (2) 15% (3) 20% (4) 30%
A man purchased 35 kg of rice at the rate of Rs. 9.50 per kg and 30 kg at the rate of Rs. 10.50 per

kg. He mixed the two. Approximately, at what price (in Rupees) per kg should he sell the mixture to
make 35% profit in the transaction ?

w =afa 3 35 Fan. 9Ee 9.50 % < B, & ze a9 30 fRm. 10.50 5. 7. . . i T A wlE | 39 A
= fren R wER 359 T W 6 3 R T Fiew =1 v B . s e e (v ) maR ?

(1) 12 (2) 12.50 (3) 13 (4) 13.50

A book is listed at Rs. 150, with a discount of 20%. What additional discount must be offered to

bring the net price to Rs. 180 ?

o TS W W 20% T, 150 5. 7a fran @ | 98 Tw 4 T 180 %. &1 31 & ford feeft
g A 9@ ?

1
(1) 8% (2) 10% (3) 125% (4) 15%
; . ; e 14 . ; :
The sides of a triangle are in the ratio Egz and its perimeter is 104 cm. The length of the longest
side (in cm.) is :

.i 3 g 3 8 o 3w wfeET 104 3L R | g el e o ed (R ) R

Wl | —

1
ol gy 1 e
(1) 26 (2) 32 (3) 48 (4) 52
X, Y and Z were sharing profits in the ratio 4 : 3 : 2. Y retired from the firm and X and Z decide to

share profits in the ratio 3 : 2. Calculate the gaining ratio.

XYWZ 4:3: 2% i am ae R & leﬁﬁﬁmﬁaﬂ*@rﬂmwx@z%:z%wﬁﬁmﬁ%
%1 faofa fomn lms’lﬂaﬁmms@mﬁmn

(1) 7:8 (2) 5:9 (3) 4:7 (4) 5:8

(R
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1. 15 men take 21 days of 8 hours each to do a piece of work. How man
21 women take, if 3 women do as much work as 2 men ?

15 =afad sﬁmmmﬁ@mﬁﬁr ABok fukochd mﬁhﬁaﬁmzﬁmﬁm%fﬁmﬁz
o W & 6 T2 A FHE FE 51 e 3@ % = ot o B et ?

(1) 18 (2) 20 3) 25 (4) 30

y days of 6 hours each would

2. A man goes uphill with an average speed of 24 kmph. and comes down with an average speed of 36

kmph. The distance travelled in both the cases being the same. The average speed (in km/hr) for the

entire journey is :
@wﬁfﬂhq@@%ﬁmzdﬁm./yn.ﬁﬁmnﬁﬂm%wﬁ% 16 5. /3.9, 6 hea 1 @ HaTe |
Mg 11&uﬁtiﬁ3ﬁmnﬁ(ﬁa.ﬂ’t.mﬂ.)ﬁ:

(1) 30 (2) 28.8 (3) 32.6 (4) 30.8

83. A train overtakes (WO persons who are walking in the same direction in which the train is going, at

the rate of 2 km/hr and 4 km/hr, and passes them completely in 9 and 10 seconds respectively. The

length of the train (in meters) 1S :

@W%mﬁ?ﬁaﬁaﬁuﬁﬁmﬁzﬁﬁ./ﬁﬂ.@4%.ﬁ./§.ﬂ.ﬂnﬁiﬁaat%%ﬁuﬁmﬁmﬁ
W 2, TS T @ q FE 9TE 10ﬂﬁﬂﬁmﬁ1ﬁmgﬁtm% | erd ) g (e d) 2

(1) 72 (2) 54 (3) 50 (4) 45

\ 4. The speed of a boat in still water is 15km/hr and the rate of current is 3 km/hr. The distance travelled

downstream (in km.) in 12 minutes is :

freft 7/ 1 I S 3§ A 15 feaf /e, # O O TEE R 3 fEd/ma. | 12 firz & wem S R d @
e g0 (. ) B
(1) 3.6 (2) 2.4 (3) 1.2 4) 1.8

85. A sum of Rs. 36.90 is made of 180 coins which are either 10 paise coins or 25 paise coins. The

number of lO_paise coins is :
s et i 36.90 TR F FA 180 Rer S L0WFIA 258 FE | 10 F REm R EENR

(1) 54 (2) 60 (3) 80 (4) 120

111 -21-



521 T

3 ; .
86. A money lender finds that due 1O fall in the rate of interest from 8% 10 7-1 G, his yearly income

diminishes by Rs. 61.50. His capital (in Rupees) is

@mmmaﬁa@ﬂmm%ﬁﬁmaﬁmﬁ 8% @ 7%%ﬁaﬁa€ﬁquaﬁaﬁ$mﬁ 61.50 %.

HehA T | za) T (vt H) B :
(1) 26000 (2) 24600 (3) 23800 (4) 22400

87. The compound interest (in Rupees) on Rs. 5,600 for Rs. 112 years at 10% per annum, compounded

annually, is

! o = wrdfe = (it #) T E ?

10%9%3&%3&2{\1{,%3&%@%%%. 5,600 EH— 1E

(1) 882.70 (2) 873.50 (3) 868 (4) 840

88. If one side and one diagonal of 2 rhombus are 5 cm and 8 cm respectively, then its area (in cm?) 1S :

aﬁﬁﬁﬂma@?aﬁ@gmqé@ﬁmﬁmzsaxﬂ.qé sﬁ.ﬁ.%,amm(ﬂ.ﬂzﬂ)zz
(1) 20 (2) 24 (3) 40 (4) 26

9. Half meter cubic gold sheet is extended by hammering so as to cover an area of one hectare. The
thickness of the sheet (in cm.) is :

mmmaﬁﬂmﬁﬁm%ﬂa@tm%ﬁﬁﬁ%ﬁmtﬁzmmw Rict it SRS
(ﬁ‘ﬁ'ﬁ)%

(1) 0.005 (2) 0.05 (3) 0.5 (4) 0.0005
90. A hemispherical bowl of internal radius 9 cm contains a liquid. This liquid is to be filled into

cylindrical shaped small bottles of a diameter 3 ¢m and height 4 cm. How many bottles will be
needed to empty the bowl ?

@maﬁﬁmmﬁmgaﬂ% 1saaﬁ={ﬁm?ﬁﬁmgﬁ.rﬂ.% mtaqm?ia?i%raqmtaﬁﬂ@ﬂ
Sraetl A SIS 2 | it a1 = 3 A T S PRR laﬂwaﬁﬁmmﬁ%ﬁﬁﬁﬁa‘iﬁﬁ

111 22- A
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91.

92.

93.

94.

95.

111

Test - 111
General Knowledge and Awareness of Current Affairs
ye-ua - 1
AT O i Wt 6 EicEatl

The system of judicial review originated in

(1) India (2) Germany (3) Russia (4) U.S.A.
e A SaEe O

(1) wwa i (2) s (3) = # (4) 3. @. ¢4

Le Corbusier, the architect of Chandhigarh was a national of

(1) France (2) Switzerland (3) Portugal (4) Netherlands
S 1 ARG ol ISR AR 1 :

(1) w8 = (2) wherds # (3) qame & (4) Fewis®
The West to East extension of the Himalayas is from

(1) Nanga Parbat to Namcha Barwa (2) Rokaposhi to Lohit river

(3) K, to Chomoithari (4) Indus gorge to Dihang gorge

e 1 v O A A 3R R

(1) Frea | T S T (2) T & wifed 74

3) %, d dmgEl aF (4) e v & Teew T 7

The philosophy of Laissez faire is identified with

(1) Welfare state (2) Socialist state (3) Gandhian state (4) Industrial state
Seea 1 aETH ST TR SR

(1) FAMTE (2) amvET=EE () nifad = (4) aE IR

Who among the following non-members can take part in the proceedings of the Indian Parliament
without the right to vote ?

(1) Comptroller and Auditor General of India (2) The Chief Justice of India
(3) Attorney General of India (4) Ex-Speaker of Lok Sabha

fodasm m,ma&m%ﬁmmmaﬁm@imém%?

) T % ST e @ e e (2) a1 HE =T
(3) WRE 1 VIR AEEE (4) Trew BEH T A
23- A
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96.

Who is the author of
(1) Cherie Blair

the book ‘Speaking for Myself' ?

TR

(2) Salman Rushdie (3) Mohammad Hanif (4) Hillary Clinton

J ‘i SR AEETE e A F ¢ ]

97.

98.

99.

100.

101.

111

(1) =4 fmsr

(2) EETHE | (3) AR EHE

Who among the following won the “India open Grand Prix Badminton

2008 ?
(1) Thailand

ﬁnﬁaﬁmﬁaﬁa,msﬁgﬁ“zﬁmm

(1) se

(4) et

Championship” held in April,

(2) India (3) England (4) China
e e Arefire SRR S ¢
) == (3) T (4) ¥

Silvio Berlusconi, whose name was in news recently, is the

(1) President of Ttaly
(3) Prime Minister of Italy

maﬁsﬁa@ﬂ,%qmmmiimmﬂﬁ o, 8

(1) sz % Tegafa

When is Internationa
Peace celebrated ?

@ s Ewm ) 2zt F waEEA

| Women's Day, and United Nations Day for wom

(2) President of Germany

(4) Prime Minister of France

(4) HTE 3 YA

en's Right and International

@m@mﬁ%%ﬁﬁgmwﬁa&aﬁmm%?

(1) March, 4 (2) March, 8 (3) March, 12 (4) March, 15
srei wfen fiaw @ ARens ¥ atfm
(1) 7=, 4 (2) W, 8 (3) =, 12

Into how many parts

is the Indian constitution divided ?

mﬁhﬂéﬁmﬁmﬁwﬁﬁﬁmﬁaﬁﬁmm%?

(1) 18

BMD which recently

(2) 21 (3) 22

came into news stands for

(4) wd,15

(4) 24

(1) Business Management Development (2) Ballistic Missile Development

(3) Ballistic Management Defence

ah.qnlﬁ.’a’ﬁmﬁﬁm!ﬁﬁm.ﬁa%mmﬂm%?

§)) mﬁm@aﬂa
(3) s e R

(4) Tenfes e R

2%

(4) Ballistic Missile Defence

2) o e seaTe
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96.

97.

Who is the author of the book

‘Speaking for Myself* ?

(R

(1) Cherie Blair (2) Salman Rushdie (3) Mohammad Hanif (4) Hillary Clinton
_ ‘i SR IR e 5 O H € 1
- (1) 3 e @) wmeEdE . - G) HEHE T (4) Rt T
Who among the following won the “India open Grand Prix Badminton Championship” held in April,
2008 ?
(1) Thailand (2) India (3) England (4) China
e i & e w, 2008 H g TR st i frea e St <A 1
(1) o= (2) g (3) T2 (4) <=

98.

99.

100.

101.

111

Silvio Berlusconi, whose name was in news recently, is the

(1) President of Italy
(3) Prime Minister of Italy

(2) President of Germany

(4) Prime Minister of France

ﬁaﬁﬁa@ﬂ,ﬁwwmﬁmfam,ﬁ
(1)szeﬁ%=nt§crﬁt (2) s % Tega (3) TeE o TR 4) HT F TR

When is International Women's Day, and United Nations Day for wo

Peace celebrated ?

men’s Right and International

(1) March, 4 | (2) March, 8 (3) March, 12 (4) March, 15
seia niten fiee @ nﬁaﬂﬁ%mﬁﬁﬁqﬁm@ﬂﬂﬁ%ﬁﬁﬁgﬁmﬁﬂaﬁmm%?
(1) 7 , 4 (2) 7, 8 (3) 7,12 (4) w,15

Into how many parts is the In

dian constitution divided ?

mﬂaéﬁmﬁ?ﬁwﬁﬁﬁmﬁaﬁmw%?

(1) 18 (2) 2

1 (3) 22 (4) 24

BMD which recently came into news stands for

(1) Business Management Development

(3) Ballistic Management Defence

. . & ST d e
(1) ﬁgmﬁﬁgﬁr«:mﬂz
(3) m@mﬁmm

(4) Ballistic Missile Defence
3 o, frers Rl M A R 7

(2) wenies feme AT
(4) weie frame %

%

(2) Ballistic Missile Development

‘!
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102. The rate at which banks lend to RBI is known as

(1) Repo rate (2) Reverse rapo rate (3) Interest rate (4) Bank rate

mkmﬁmméﬁﬁmﬁé,mm%
(1) T & (2) fad T 2 () TR R (4) FHE

103, ‘Vijay Hazare Trophy’ is associated with the game of

(1) Badminton (2) Football (3) Hockey (4) Cricket
e e gy T e & wa € 1
(1) ehA 2) FeEE (3) TR (4) e

104. Pen name Beerbal belongs to

105.

106.

111

(1) Pramatha Chaudhry (2) Ashpurva Dev (3) Samaresh Majumdar (4) Samaresh Basu
S vEw e e -
(1) e =l (2) sToEi e (3) EROTGRR . (4) TR

“Talchar' is famous for thermal power plant. It is located in which of the following states ?

(1) Assam (2) Bihar (3) Orissa (4) West Bengal

T p—— el b L ALY ‘
(1) @™ (2) foew (3) 3" - (4) TRt &

Which states of India have derived maximum benefits from green revolution ?
(1) Punjab, Haryana and upP (2) Bihar, West Bengal and Assam

(3) Rajasthan, Gujrat and Maharashtra (4) Tamil Nadu, Andhra Pradesh and Kerala
T 3 5 el 3 e i 8 tfrran o e R R 7

(N e, TR T I e (2) Forew, Ut S @ A

(3) TR, TG, W TER (4) e, AFITRY @ =
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107. Which one of the following is not correctly matched ?

(1) Warsaw — Poland (2) Rotterdam — Australia

(3) Khartoum - Sudan (4) Dublin - Ireland

£ 1 2 T e W@ F#e?

(1) T - TS @) fraer - et (3) EraEd - g8H (4) ZERH - FAES

108. The term "Green Revolution" was given by
(1) Dr. Norman Borlaug (2) Dr. M.S. Swaminathan
(3) Dr. William Gande (4) Sada Shiv Rao

“offy e AW fagn T
(1) . o e 3 (2) 21, T, T, S A
(3) =. e =3 (4) = FeRE TEA

109. After independence, recognizing the importance of estimate of National Income and its various
components, the Government of India appointed the National Income committee in 1949. Who was
the chairman of this committee ?

(1) Dadabhai Naroji (2) Prof. V. K. R. V. Rao

(3) P.C. Mahalanobis @) C.D. Deshmukh
mmﬁmﬁaﬁ%m,n@amq&w&ﬁﬁamﬁ%maﬁmﬁmgaﬁ §R%%
# ot =1 |t g < | za BT = steAE w1 a1 7

(1) IremTé TR ) f.A.Fm A=

(3) . €. TEEEe, (4) . 3. @

110. Who invented ‘computer laptop’ ?

(1) Sinclair - Britain (2) Arthur Wynna — US.A.

(3) Q. Daimler — Germany (4) Lacques Nicolas Conte — France
S S 1 T e i 7

(1) R - g (2) s -3 W T

(3) . ST - (4) wRE FFEE R - B

111 -26- A
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Test -1V
English Language

Directions (Q. 111 - 115) : In each of the following sentences four words or phrases have been
underlined. Only one underlined part in each sentence is not accepted in standard English. Identify that part

and mark its number 1, 2, 3 or 4 in your answer sheet.

[11. Gaze for a thing that are not available easily in the country is a universal phenomenon.
1 2 3 4

112, It is foolish to be expecting one person to be like another person, for each individual is bom with his
1 2 3 -

characteristics traits.

113. The tendency to believe that man is inherently dishonest is something that will decried.
1 2 3 4

114. I have not come ac;.ogg very few people who think of thing beyond their daily work.
1 2 3 4

115. He managed to board the running train but all his luggages was left on the station.
| 2 3 4

Directions (Q. 116 — 120) : Select the pair of words which are related in the same way as the capitalised
words-are related to each other.

116. SCALES : JUSTICE : :
(1) weights : measures - (2) laws : courts

(3) torch : liberty (4) launch : peace

117. HOBBLE : WAILK ::

(1) gallop : run (2) stammer : speak (3) stumble : fall (4) sniff : smell

111 217- A



521 (U AR R

118. FRAYED : FABRIC : :
(1) watered : lawn (2) renovated : building

(3) thawed : ice (4) worn : nerves

119. YOLK : EGG : :

(1) rind : melon (2) nucleus : cell (3) stalk : corn (4) web : spider

120. BAMBOO : SHOOT : :

(1) bean : sprout (2) pepper : com (3) oak : tree (4) holly : sprig 0

Directions (Q. 121 — 125) : For each of the following capitalized words, four words or phrases are given of

which only one is synonymous with the given word. Select the synonym.

121. DEFER
(1) iespect (2) dislike (3) postpone (4) disrespect

122. DUBIOUS
(1) clear (2) undoubtedly (3) hesitant (4) doubtful

123. COARSE 1
(1) impolite (2) rough (3) polished (4) improper

124, PROXIMITY

(1) nearness (2) aloofness (3) completely (4) nearly
125. ABSTAIN
(1) stay - (2) tempt (3) refrain (4) pardon

111 © 28 A
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Directions (Q. 126-130) :

Fill in the blanks by selecting appropriate alternative.

126. 1 met him only a week

(1) back (2) past (3) ago (4) previous

127. Lovey asked me

(1) why are you angry ? (2) why I am angry ?

(3) why I was angry ? (4) why was 1 angry ?

to office on time.

128. Even after repeated warnings, he

(1) never come (2) never comes

(3) is never coming (4) have never come

129. He told his wife that from Germany.

(1) he will like to visit France (2) he was liking to visit France

(3) he would like to visit France (4) he is liking to visit France

even with murder.

130. Some people can

(1) get on (2) get out (3) get off (4) get away

Directions (Q. 131-135) : Choose the correct antonym from the choises for each of the following

capitalised words :

131. INDIFFERENT

(1) curious (2) varied (3) alike (4) uniform
132. DISCREET
(1) wise (2) diplomatic (3) prudent (4) careless
20-

111
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133.

134,

135.

OBSOLETE

(1) free (2) ancient (3) current (4) cultured
RATIONAL

(1) sound (2) insane (3) judicious (4) sensible
SCEPTICAL

(1) doubtful (2) convinced (3) questioning (4) cinic

Directions (Q. 136-140) : Each sentence has one or two blanks. Choose the word or set of words that best

completes the sentence meaningfully.

136.

137.

138.

139.

140,

111

He went to the library to find that it was closed.
(1) seldom (2) never (3) only (4) solely
The ties that bind us together in common activity are so that they can disappear

at any moment.

(1) tentative (2) tenuous (3) consistent (4) restrictive

Her reaction to his proposal was . She rejected it

(1) inevitable —vehemently (2) subtle — violently

(3) clever — abruptly (4) sympathetic — angrily

His directions misled us we did not know which of the two roads to take.

(1) complicated (2) ambiguous (3) narrow (4) fantastic

It would be difficult for one so to believe that all men are equal irrespective of

caste, race and religion.

(1) emotional (2) democratic (3) intolerant (4) liberal

e
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Please do not leave your seat becau

@Waﬂﬁﬂﬁzqaﬁaﬁﬁ

31-
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se the Examination is not yet over.
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7.

10.

Ll

(A

Foreach question in this Test Bocklet, four alternative answers sumbered as (1), (2). (3) and (4) are given. Out of these four answers.
is the correct answer to each question. Your task in these Lests is to find out this correct answer and to show it in your
answer-sheet by blackening with an H.B. Pencil the circle having the alternative number of your choice below the corresponding
serial number of the question. For changing an answer, eTase the earlier blackened mark and make a fresh mark in the alternative of
the new choice. For any question, if more than one circles are found blackened, the machine will allot a zero mark for your answer to
that question.
o e e W 3 AT SR e (1), 2 @) i (4) freme & 14 S S Rt LRk
§ mmﬁﬁmﬁﬁﬁﬁ%mmﬁmm%w YA I, mm—wﬁmuﬂ-ﬁm%ﬁaﬁmﬁm
o g9 W AL ¥R B T B AL lmaﬁ%mmeqﬁé?mﬁmﬁmmmﬁmaﬁ@m firem
i e Te e & e e | Rl T A R v R S T S e 3E 5 I =

. Before beginning to answer the quéstions please make sure that all the entries in your answer-sheet have been duly completed. Any

carelessness in this regard may jeopardize your chances for selection,
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. Before attempting to answer the questions, do not spend time to read the whole test. Try the questions one by one and wherever you

are not sure of the answer, pass on to the next question. Time permitting, you may again try the left out questions.

e SO A O O - g A A IMWWWqﬁmmmmlwnﬁ-ﬁmﬁ%mmtﬁ
AR T RER |

For rough work blank space has been provided on pages 2 and 31 of your Test-Booklet. Don’t mark anywhere else in it.
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You have to attempt the Descriptive Test after the Objective Tests are over. Therefore, do not leave your seat after the Objective Tests
are over. -
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Note: In case of variation of any kind in the English and Hindi version of any question (s), English version
will be considered as final,
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